fe) =
[ o [
g t g
) _ (&) _
D U A S L e e S S
ko) o + ~ =
5 F + © F
1072t A R P 107%F
o : + o
L 1 : L
L i1 : L
107 * 0| RRE AR 10°F
010—4_ L 4: .......! L 010—4_ .
b=t =t A I L 1 S I e g L2y WHEFRE
o Fo B L O L e 14 3 <4 I
l2r T4+ 5 : - ¥ J b 2 AN E AL CORRRE e
| - %[T]. i AT E +
E : 0.8F---- L - HelF A

107 1 10 0? - 10° 107 1 10 0? - 10°
TP, (PCA t% beamllnef) TP, (PCA t% beamllnef)

—=— DQM_V0001_R000000001__Global__cmssw__RECO

—— DQM_V0001_R000000001__Global__mkFitOriginal__RECO

—— DQM_V0001_R000000001__Global__mkFitNewALL__RECO

- ~ 1
= 1] i
5 5]
2 =
= =
< -
> o
o =2
3 ©

107}

1072 ST I B £ 107

—
-
o
-
o
o
2
o
Lo [
4

e T

P +ﬁ 1l J (R

107 1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


